	Common Size Income: All income statement lines expressed as a percentage of total Revenue.
Removes “scale” effects, Compare company with itself or other companies


Common Size Balance Sheet: All balance sheet lines expressed as a percentage of total Assets.

 
Gross Profit= Total Revenue- COGS
Gross Margin (%)= Gross Profit/ Total Revenue
Operating Profit  (Operating Income) (EBIT) ($)=Total Revenue- COGS- Total Operating Expenses
Operating Margin (%)= Operating Profit/ Total Revenue
Measures core business profitability


Higher Gross Margin is better (Manufacturing Efficiency) 
EX: Buy product $1, Sell $2 (rev= $2, COGS= $1; Gross Prof.= $2-$1=1
GM%= Gross Prof./ Rev =$1/2 = 50%
 


Earnings Before Taxes (EBT) (Income before Income Taxes): Total Revenue- COGS- Total Operating Expenses- Interest Expenses (tax expenses not yet subtracted)
Net Margin (%)= Net Income/ Total Revenue
Net Income ($) Total Revenue- COGS- Total Operating Expenses- Interest Expenses- Tax Expenses
Effective Tax Rate (ETR) Tax Expenses (provisions for Income Taxes)/ EBT



Working Capital= Inventory + Accounts Receivable- Accounts Payable (Want negative)
CAPEX- Additions to property and equipment, under investing on cash flows. 
Earnings Per Share (EPS) Net Income/ Total Shares Outstanding

[bookmark: _GoBack]EBITDA: earnings before interest, taxes, depreciations, and amortization (EBIT + DA)


Perpetuity = NPV= CF1 / r 
NPV = Sum of PVs 
***PV is less than FV
PV = FV/(1+r)^n
FV = PV(1+r)^n

Days Payable = Accounts Payable/Average Daily Cogs (Cogs/365)
Constant Growth = NPV= CF1/(r-g)
Inventory Turnover = 365/Days Inventory


Free Cash Flow= CFFO- CapEx; (CapEx is under CFFI) => FCF is how much a company makes after making minimum investment to survive
Days Inventory= Is the number of days on average it takes to sell a unit of inventory 
*Days Inventory = Inventory Balance (Found on Balance Sheet)/ Average Daily COGS; or Inventory Balance / (Yearly COGS / 365 Days); or Inventory Balance /(Quarterly COGS / 91 Days);                        	***Lower Days Inventory is Better***




Days of Sales Outstanding (DSO)= Is the number of days on average it takes to collect cash from a customer
*DSO= A/R Balance (Found on Balance Sheet)/ Average Daily Revenue; or A/R Balance / (Yearly Rev/ 365 Days); or A/R Balance /(Quarterly Rev/ 91 Days);                        			 ***Lower DSO is Better***







[image: ]Net Income to CFFO
Start with Net Income (from the Income Statement)
1. (+) Add back Non Cash Expenses (Depreciation of PP&E; amortization of intangibles; stock-based compensation)
Using the Balance Sheet with two dates (two columns)
2. (+) Add back however much operating assets decreased by (add back any decrease in Inventory, A/R, Prepaid Expenses, Deferred Taxes, etc); do not include cash and short term investments when doing this.
3. (+) Add back however much operating liabilities increased by (add back and increases in A/P, Accrued Expenses, Deferred Revenue, Taxes Payable, etc.)
4. (-) Subtract however much operating assets increased
5. (-) Subtract however much operating liabilities decreased
Going back to the Income Statement…
6. (+) Add back non-cash losses on sale of assets (equipment or businesses, loss of disposable assets)
7. (-) Subtract non-cash gains on sale of assets
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Sales to Asset Turnover = Total Revenue / Total Assets (ending balance) 

Net Margin =Net Income/ Total Revenue 

Return on Assets = (Net Income / Rev) * (Rev/ Total Assets)

Return on Assets = Net Income / Total Assets (ending balance)



Return on Equity = Net Income / Stockholder’s Equity (ending balance) 

Return on Equity = (NI/Rev) * (Rev/TA) * (Financial Leverage)

Financial Leverage = Total Assets / Stockholder’s Equity 




Fair Value of a company = Decided by (1) Returns (2) Growth (3) Risk


DCF value = NPV = FCF / r 
***Subtract any growth from (r)

P/S = Stock Price/ Sales per Share

Price to earnings = Stock price / EPS

Price to Sales = Market value of equity / total revenue

Market Value of equity = Stock Price * Shares out
P/E = Market Value of Equity/ Net Income


Impairment Charge  = Current Book Value of PP&E – New market value of PP&E 

Shares Outstanding = Shares Issues- Repurchased  

Treasury Stock = Repurchased stock 

Market to Book = Market Value of Equity / Book Value of equity (or Total stockholders equity) 
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Bond: Par

[image: ][image: ]

	

	






[image: ][image: ]Bond: No Coupons






	



	
My Notes of How to do it
1.) Find PV of Initial Number: Face Val/(1+ Market Rate/2)^num of times it compounds
2.) Calc individual Coupon rate value:  Face Val (X) Coupon rate/2
3.) Get PV of ALL Coupons= Coup Rate/(1+ Market Rate/2)^num of times it compounds, repeat
4.) Add ALL Coupon PV to Initial PV to get Total PV
5.) Debit cash Total PV
a. Credit Short (or Long) Term Bond ORIGINAL NUMBER
b. Credit Premium or DEBIT Discount for the Difference
6.) Find and Debit interest expense: Total  PV number (X) Market Interest rate/2
a. Debit Premium (Or Credit Discount) long term Bond= Difference between Interest expense and  Original Coupon Rate from step 2
b. Credit Cash Original Coupon rate from step 2
7.) Find new interest expense and DEBIT it: Original NPV – Last difference (step a) (X)  Market Interest rate/2
a. Debit Premium (Or Credit Discount) long term Bond= Difference between Interest expense + Original Coupon Rate from step 2
b. Credit Cash Original Coupon rate from step 2
REPEAT AS NEEDED
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	Premium= Market rate is LOWER than Coupon
Discount= Market rate is HIGHER than Coupon
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On 11/1/2014, you: L
1. Contribute $10,000 of your own cash into your company in retun for Common Stock.
2. Purchase 500 teddy bears for S5 cach (n cash) from a supplit in Asia.
3. Purchase a display cart for $1,200 cash, which should last two years and have S0 salvage value.
On 11/222014, you:
4. Purchase 200 teddy bears o 6 each (incash) from a supplier i the U.S.

Between 11/3/2014 and 113012014, you:
5. Sell 300 teddy bears for $10 cach in cash o retail ustomers.
6. Sell 300 teddy bears for $10 cach on account to corporate customers.
On 11/302014:
7. One corporate customer who owes you S100 goes bankrupt.
8. Ten teddy bears purchased from the U.S. fal into the guter and are rined.
9. The display cart i hit by a taxi,losing $500 of it historcal value (i.c., book value, BS value).

Itis now 12/1/2014. Prepare the November 2014 income statement and balance sheet. Account for COGS and
Inventory using FIFO, Use straight-line depreciation for the cart, Ignore taxes. Show all journal entries.
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ythe cffc of th cxessand obsolte iventory charge ongross marsin. S6US6000 =001 = 0%
the ffect of the bed debt expense on operating margin. $100/56,000 = 0.0167 = 1.675%
the effect of the PP&E impairment on net margin. $500/$6,000 = 0.0833 = 8.33%
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1. Price a bond with the following terms:

a.

™o e o

Face value of $10,000
Matures in two years.
Coupon rate of 5.5%
Market interest rate of 4.8%

Interest compounded semi-annually
Date of issue is 10/29/2014.
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2. Write the journal entry on 10/29/2014. If it is issued at a discount, then use a contra-liability to
record the amount of the discount. If it is issued at a premium, then use a second liability to record
the amount of the premium.

(debit) Cash 10,132
(credit) Long-term bond 10,000
(credit) Premium on long-term bond 132
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Face value $ 10,000

Coupon rate 5.50% --->Coupon payment = 10000*5.5%/2 = 275
Interest rate 4.80% ---> Interest rate every period =4.8%/2 = 0.024
Period 1 2 3 4

Date 4/29/15 10/29/15 4/29/16  10/29/16

Coupon payments 275 275 275 275

Face value payment 10,000

PV of coupons 268.6 262.3 256.1 250.1

PV of face value 9,094.9

NPV 10,132
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5. Write the journal entry on 4/29/2016.

(debit) Interest expense (=10067*.024) 242
(debit) Premium on long-term bond 33
(credit) Cash 275

6. Write the journal entry on 10/29/2016.

(debit) Interest expense (=10034*.024) 241

(debit) Premium on L-T bond 34
(credit) Cash 275

(debit) Current portion of L-T bond 10,000

(credit) Cash 10,000
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3. Write the journal entry on 4/29/2015. Use the effective-interest method to compute interest expense.

(debit) Interest expense (=10132*.024) 243
(debit) Premium on long-term bond 32
(credit) Cash 275

4. Write the journal entry on 10/29/2015. On this date, the debt becomes due within one year, so
include the journal entry that reclassifies the debt from long-term to current.

(debit) Interest expense (=10100%.024) 242

(debit) Premium on long-term bond 33
(credit) Cash 275

(debit) Long-term bond 10,000

(credit) Current portion of long-term bond 10,000
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5. What is (are) the journal entry(s) on 11/1/2015 (end of period 8)?

(debit) Interest Expense $15.625 million
(credit) Cash $15.625 million
(debit) Long-Term Bonds Payable $500 million

(credit) Current Portion of Long-Term Bonds Payable $500 million

6. What is (are) the journal entry(s) on 5/1/2016 (end of period 9)?

(debit) Interest Expense $15.625 million
(credit) Cash $15.625 million

7. What is (are) the journal entry(s) on 11/1/2016 (end of period 10)?

(debit) Interest Expense $15.625 million

(credit) Cash $15.625 million
(debit) Current Portion of Long-Term Bonds Payable $500 million

(credit) Cash $500 million




image12.png
(FV*Coupon Rate/2) = ($500 million)(6.25%/2) = $15.625 million.

2. What is (are) the journal entry(s) on 11/4/2011 (day of the offering)?

(debit) Cash $500 million
(credit) Long-Term Bonds Payable$500 million

3. What is (are) the journal entry(s) on 5/1/2012 (end of period 1)?

(debit) Interest Expense $15.625 million
(credit) Cash $15.625 million

4. What is (are) the journal entry(s) on 11/1/2012 (end of period 2)?

(debit) Interest Expense $15.625 million
(credit) Cash $15.625 million
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4. Atthe end the second six months, how much aggregate interest expense 1s accrued by the
company and earned by the bondholders? In other words, what is the journal entry at the end
of the second compounding period?

Interest expense = ($9,245,562 + $369,822)(0.04) = $384,615

(debit) Interest expense $384,615
(credit) Short-term bonds payable $384,615

5. Also at the end of the second six months, the bond becomes due. What is the journal entry to
repay this bond?
Short-term bonds payable is now $9,245,562 + $369,822 + $384,615 = $10,000,000
(rounding)

(debit) Short-term bonds payable $10,000,000
(credit) Cash $10.000.000
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1. Ignoring commission fees to the bank, how much cash did Sternie Industrials raise that day?
You may round to the nearest dollar.
$10,000,000 / (1.04)* = $9,245,562

2. What is the journal entry on that first day to record the inflow of cash?
(debit) Cash $9,245,562
(credit) Short-term bonds payable $9,245,562

3. At the end the first six months, how much aggregate interest expense is accrued by the
company and earned by the bondholders? In other words, what is the journal entry at the end
of the first compounding period?

Interest expense = $9,245,562(0.04) = $369,822

(debit) Interest expense $369,822
(credit) Short-term bonds payable $369,822
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If a firm has excess cash and wishes to reduce its overall debt, it may want to buy bac
its bonds—called “retirement of debt.”

If the market price is higher than the book price (the amount of the liability on the
balance sheet), then there would be an “accounting loss.”

If the market price is lower than the book price, then there would be an “accounting
gain.” Any gain or loss would show up on the income statement.

In previous example, assume we want to retire the bond after the first period when the
liability is $1,004.90 ($1,000 face value plus $4.90 premium). Assume that interest
rates declined and now we have to pay $1,100 to retire the bond. There would be a
“book loss” of $95.10 ($1,100 - $1,004.90).

The journal entry at the time of the bond retirement:

(debit) Short-term bonds payable $1,000
(debit) Premium on ST bond $4.90
(debit) Loss on retirement of bond $95.10
(credit) Cash $1,100

This would be a non-cash loss that gets added back to net income to derive CFFO on
the cash flow statement.

The $1,100 cash outflow would shown in the CFFF section and be labeled
“Repurchases of debt.”
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rnes and Noble

2015
**INTHOUSANDS

Net Income $565%
Changs for DEA BEA
“Change In Operaiing Assels
Change for AR ST5405
“Change for Merohandise Tavemories 5852
“Change for Textbook Rental Inventories R}
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“Change for Short-Term Deferred Taxes sioal
‘Change in Operating Liabiliies
“Change for Accounts Payable w00
“Change for Accrued Lisbilies S8
“Change for Gift Card Libilies S136
“Change for Deferred Taxes SI3%
“Cash Flow From Operating (CFFO) SSTSaE
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Stern Teddy Bears, Inc.
Income Statement for month ended 11/30/14

Sales 56,000
COGS (incl. E&OD 3,160
Gross Profit 52,840
Bad debt $100
iation ex; 50
Operating income 52,690
Impairment of PP&E____$500
Netincome 52,190
Stern Teddy Bears, Inc.
Balance Sheet on 11/30/14
Cash 38,100
Accounts Receivable  $3,000
AFDA (5100)
Inventory $540
PPAE 5700
Accumulated Depr. (550)
Total Assets 512,190
Totl Liabilities 50
Common Stock 510,000
Retained Eamnings 52,190
Total Equity 512,190

Total Liabilities & Equity $12,190
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11/1/2014 journal entries
Cash $10,000

Common Stock $10,000
Inventory $2,500

Cash 52,500
PP&E $1,200

Cash 51,200
11/2/2014 journal entry
Inventory $1,200

Cash 51,200

Journal entries for the sales (11/3 to 11/30)
Cash 53,000
Sales 3,000
COGS $1,500 (note FIFO: 300°$5)
Inventory $1,500

AR $3,000
Sales 3,000
COGS $1,600 (note FIFO: 200*$5+100%56)
Inventory $1,600
11/30/2014 journal entries
Bad debt expense 100
Allowance for Doubtful Accts 100
Excess and obsolete inventory $60
Inventory $60
Impairment of PP&E $500
PP&E $500
Depreciation expense $50
Accumulated depreciation $50








